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&40 I3t
HE ID e HE ID e HE ID e

1| 6701 5 41| 2092 4 81| 6528 5
2| 6555 2 42| 2058 3 82| 6543 24
3| 6799 26 43| 2075 2 83| 8247 2
4| 6482 3 44| 2028 5 84| 8569 4
5| 6546 2 45| 2045 5 85| 9601 2
6| 6603 1 46| 5412 2 86| 9614 3
7| 6651 1 47| 5424 13 87| 11173 1
8| 4837 40 48| 2002 5 88| 11179 3
9| 4852 2 49| 2004 3 89| 11641 2
10| 4732 4 50| 2018 21 90| 11673 1
11| 4734 3 51| 1966 4 91| 11644 1
12| 4735 3 52| 1978 1 92| 11646 2
13| 4761 3 53| 1944 3

14| 4703 1 54| 1955 3

15| 4672 5 55| 1906 3

16| 4650 5 56| 1916 5

17| 4552 5 57| 1321 3

18| 4555 1 58| 1924 5

19| 4559 1 59| 1932 10

20| 4568 10 60| 1881 4

21| 4581 4 61| 1895 27

22| 4587 4 62| 1851 4

23| 4612 1 63| 1865 7

24| 4617 4 64| 1820 1

25| 4522 1 65| 1822 4

26| 4526 3 66| 1835 11

27| 4542 19 67| 1788 3

28| 4543 16 68| 1791 5

29| 4494 2 69| 1811 13

30| 2208 1 70| 1756 3

31| 2210 5 71| 1761 2

32| 2221 4 72| 1493 1

33| 2225 16 73| 1521 1

34| 1074 5 74| 1551 3

35| 2154 5 75| 1561 4

36| 2165 10 76| 1702 5

37| 2135 11 77| 1728 4

38| 2086 3 78| 1735 2

39| 2088 3 79| 2238 3

40| 2089 5 80| 2258 30
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1| 6713 1 41| 1961 13
2| 6743 2 42| 1910 2
3| 6548 5 43| 1321 3
4| 6551 1 44| 1898 11
5| 6604 1 45| 1866 11
6| 6654 1 46| 1842 8
7| 4432 1 47| 1780 21
8| 4435 2 48| 1492 1
9| 4436 4 49| 1523 3
10| 4825 3 50| 1557 4
11| 4858 4 51| 1707 4
12| 4737 1 52| 1740 5
13| 4766 5 53| 1744 2
14| 4792 4 54| 6543 24
15| 4797 5 55| 6544 20
16| 4709 5 56| 8259 3
17| 4710 2 57| 8581 1
18| 4675 4 58| 9609 4
19| 4645 3 59| 10182 6

20| 4648 2 60| 11676 2

21| 4559 1

22| 4572 90

23| 4617 4

24| 4530 3

25| 4535 5

26| 4467 2

27| 1039 1

28| 2163 2

29| 2131 3

30| 1129 1

31| 2102 5

32| 1159 5

33| 2066 3

34| 1198 5

35| 2043 4

36| 5416 3

37| 2003 2

38| 2004 3

39| 2006 1

40| 1970 5
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1| 6737 5 41| 1836 10
2| 6739 2 42| 1506 25
3| 6556 12 43| 1566 24
4| 6568 67 44| 1538 2
5| 6666 24 45| 1512 186
6| 4856 3 46| 1709 5
7| 4452 28 47| 2251 4
8| 4738 5 48| 1716 35
9| 4747 14 49| 1746 4
10| 4777 17 50| 2256 7
11| 4781 24 51| 6535 1
12| 4657 28 52| 6489 3
13| 4718 21 53| 6539 15
14| 4555 1 54| 8264 13
15| 4567 28 55| 8582 20
16| 4627 41 56| 10176 3
17| 4537 25 57| 11185 2
18| 2116 1 58| 11671 4
19| 2214 1 59| 11695 3

20| 2227 17 60| 11699 38

21| 2169 12

22| 1139 5

23| 2041 3

24| 2105 13

25| 2047 12

26| 2079 21

27| 2110 14

28| 1938 4

29| 1999 3

30| 1221 5

31| 5393 4

32| 5423 3

33| 1986 19

34| 2016 13

35| 2019 28

36| 1912 3

37| 1926 21

38| 1758 4

39| 1824 5

40| 1806 8
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1| 6702 2 41| 4534 4 81| 1826 5 121 11177 1
2| 6706 5 42| 4535 5 82| 1830 1 122 11192 27
3| 6711 5 43| 4542 19 83| 1834 3 123 11195 51
4| 6558 33 44| 4505 1 84| 1840 3 124 11679 1
5| 6762 2 45| 4477 14 85| 1796 5 125| 11688 3
6| 6794 4 46| 4483 147 86| 1804 4 126| 11693 10
7| 6805 12 47| 2218 4 87| 1774 5 127| 11699 38
8| 6485 2 48| 2222 3 88| 1781 97 128
9| 6570 16 49| 2224 1 89| 1501 2 129
10| 6574 22 50| 2230 13 90| 1504 5 130
11| 6607 3 51| 2158 2 91| 1511 12 131
12| 6628 5 52| 2161 1 92| 1533 5 132
13| 6657 4 53| 2134 4 93| 1534 133
14| 4433 2 54| 2139 12 94| 1569 134
15| 4438 5 55| 2093 1 95| 1573 65 135
16| 4439 1 56| 2096 4 96| 1703 3 136
17| 4447 24 57| 2100 4 97| 1710 4 137
18| 4838 42 58| 2072 2 98| 1713 3 138
19| 4839 20 59| 2074 4 99| 1723| 243 139
20| 4867 50 60| 2038 1 100| 1743 3 140
21| 4868 16 61| 5393 4 101| 1752 10 141
22| 4741 1 62| 5426 25 102| 2253 3 142
23| 4749 20 63| 5430 32 103| 2262 32 143
24| 4750 15 64| 1229 3 104| 6524 2 144
25| 4751 527 65| 2010 2 105| 6534 1 145
26| 4795 3 66| 2014 5 106| 6490 65 146
27| 4807 14 67| 2019 28 107| 8255 1 147
28| 4706 3 68| 1984 3 108| 8256 2 148
29| 4717 12 69| 1990 21 109 8271 40 149
30| 4719 16 70| 1954 4 110| 8572 5 150
31| 4722 32 71| 1958 22 111| 8586 22 151
32| 4687 13 72| 1917 2 112| 8589 5 152
33| 4553 2 73| 1919 2 113| 9612 5 153
34| 4563 5 74| 1930 12 114 9619 8 154
35| 4569 11 75| 1890 1 115| 9621 3 155
36| 4573 12 76| 1894 1 116| 9624 19 156
37| 4597 28 77| 1900 5 117| 10177 2 157
38| 4603 13 78| 1857 1 118| 10180 5 158
39| 4626 3 79| 1864 5 119| 10186 21 159
40| 4531 5 80| 1872 16 120| 10188 42 160
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HE ID e HE ID e HE ID e

1| 2071 2 41| 2263 9
2| 1869 12 42| 8249 4
3| 1793 4 43| 8262 4
4| 11692 44| 8575 5
5| 6741 45| 8584 10
6| 6619 20 46| 10168 1
7| 6620 16 47| 11193 7
8| 6628 5 48| 11686 1
9| 6668 16

10| 4764 1

11| 4679 3

12| 4642 1

13| 4633 17

14| 2156 1

15| 2122 3

16| 2131 3

17| 2132 1

18| 2137 35

19| 2076 16

20| 2034 4

21| 1202 5

22| 2044 2

23| 5409 2

24| 1968 2

25 1991 40

26| 1956 25

27| 1333 167

28| 1879 1

29| 1899 304

30| 1849 3

31| 1863 1

32| 1808 4

33| 1773 1

34| 1782 45

35| 1536 24

36| 1542 43

37| 1552 2

38| 1563 5

39| 1731 2

40| 2242 1
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HE ID e HE ID e HE ID e
1| 6755 12
2| 6785 5
3| 6789 3
4| 4827 1
5| 4857 4
6| 4778 14
7| 4819 78
8| 4680 4
9| 4586 4
10| 4476 1
11| 2153 2
12| 2164 5
13| 2082 13
14| 2051 40
15| 5415 5
16| 5427 2
17| 1976 2
18| 1257 2
19 1941 3
20| 1391 96
21| 1797 4
22| 1766 3
23| 1555 1
24| 1749 8
25| 1753| 200
26| 2259 4
27| 8269 12
28| 8578 4
29| 10175 3
30| 11191 14
31| 11682 2
32| 11684 4
33
34
35
36
37
38
39
40




